National Talent Search Examination - 2013
AHT Far3T & Yiftpm-2013, AN @R (Class-x)
Mental Ability (H&fRE @ar3T)

In a certain code PARTICLE
USBQFMDJ, how is DOCUMENT written in
that code?

1) VDEPUONF

2) VDPENFUQ

3) VDPENFOU

4) VDPEUOFN

If DIVINE is coded as AFSFKB, then 2.
POWERFUL is coded as

1) XLHOJWVIM

2) MLTBOCRI

3) MLWBOCRI

4) HLTBNCRI

3 4 10 33 136 3.
1) 408 2) 384

3) 685 4) 654

0.4,2.4,?,27.4, 1146, 579 4.
1) 64 2) 4.2

3) 83 4) 7.8

Arrange the words in the meaningful order =2
a) Rainbow b) Rain

c) Sun d) Happy €) Child

1) d,eabc

2) d,b,cea

3) b,caed

4) b,ad,ce

6.

If by arranging the letters of the word ‘NESTIN’
the name of a game is formed.What is the last and
first letter of the word so formed.

1) ES 2) NT

3) ST 4) EN

is written as 1.

fan &3 g™ f<¥ PARTICLE & USBQFMDJ,
f&fipyr At 3187 a3 g f<g DOCUMENT &
fa= fafimr Ar<ar ?

1) VDEPUONF

2) VDPENFUQ

3) VDPENFOU

4) VDPEUOFN

Had DIVINE € a5 AFSFKB g 3 POWERFUL
TT AT OH |
1) XLHOJVIM

2) MLTBOCRI
3) MLWBOCRI
4) HLTBNCRI

3 4 1033 136
1) 408 2) 384
3) 685 4) 654

04,24,7 27.4,114.6, 579

1) 6.4 2) 4.2

3) 83 4) 7.8

I fafanrt & Araga 393ty feg |

a) FA3gant utw b) Faur (o)

c) FaH d) uw e) T
1) d,e abc

2) d,b,cea

3) b,caed

4) b,adce

Hdg Hae ‘NESTIN’ € »igt & rdt gy feg fafimr
A< 3T faw 45 €7 oW ge HeT J | fen 39T 5 9T
T €7 Wydt w3 UfasT »iyd faasT g=ar|

1) ES 2) NT

3) ST 4 EN



A man goes 10 km due south, then it turns west
and goes 5 km. Now it turns back and goes
10km. Again it goes 10km due North. Where is
man from the starting point?

1)  5km due East

2)  5km due North

3)  5km due South

4)  15km due West

Noor starts from his house and walks 4kms
North, then 3kms West then 8kms South. How
many Kilometres away from his home was he?

1) 6kms
2) T7kms
3) 5kms
4)  8kms

Akhilesh is taller than Sheebu.Aman is not as
tall as Akhilesh but is taller than Tejinder.
Sheebu is also not as tall as Aman but is taller
than Tejinder. Who is tallest?

1)  Akhilesh
2)  Sheebu
3) Aman

4)  Tejinder

7.

fex foraat 10 faHt Sy ferr feg AeT g, feg
So = I Uy ferr <% 5 fanit Aer J1ge €9
fug vz & 10 fat & gat S ager JIggar €9
10 fat ©°39 feur € #7er 3199 fonast mus
Jse TS e I faag?

1) s fartyeg <%

2) s5fait@sass

3) 5fatdus <%

4) 15 fart e <%

3T MUS W@ 3 4 fart €739 fea 3 fant e 3
feg 8 fat Tue % g%er I 1Q@u virus wo 3 faa
foraft €t gt 3 91

1) 6 fait
2) 7 fait
3) 5 fat
4) 8 fait

e, iy 3 & T 1, mdtew fagt & &at
{rg 3faeg 3 &9 91 Fly <t mis fagt & &at
Z3ffee I &T T IR I &I = I ?

1) »itEw

2) i
3) »H&
4) Iffaeg

Direction (Q. 10-12) What will come in place of [GIH (Y5 10-12) I fesu st fe9 wwes fog = ( 7)

10.

question mark (?) in the following questions. et Ay 59 |
10.
3 5 |
v
7176 | =%
¢ vy S
e | 4
1) 482 ;) 482
2) 382 3) ;Zi
3) 290 )
4) 280

4) 280



11.

2 C i 2 11. 3 4 A 2
2 3 9 2 3 9

15 2) 18 4) 16 1) 15 2) 18 3) 17 4) 16
9 x " &S
D% Sl 56

25 2) 15 17 4) 18 1) 25 2) 15 3) 17 4) 18

13. Three Positions of a cube are given. Based on ;3 fig wie ohut f35 Sy—oy Rfg gt fargt et
them find out which number is found opposite % |1 QU AfaShut wigHTg Hiel 2 & AranS farasT

of number 2 in a given cube? W J=IIT UIT 9 |
5 é > é
1 2{¢ \ ‘ 1Y (¢ \ A
1 4) 1) 2 2) 5 3) 1 4

Direction (Q. 14-15) Six faces of cube are painted in f&3€H (YA& 14-15) f€3 3T we € & wfmnr & 35 Jar
such a way that no two adjacent faces have the same &, &8 M3 a9 & fen 397 @-€ ufmyt 3 Ifaput
colours. Three colours used are red, blue, green. Cube  farur & fa fai @ mi¥ Ui 3 fed fagr Jar 54t T 1 g< few
is cut into 36 Cubes, among which 32 are smaller and & 36 wet feg dfewr farr T fARfeg 32 8T M3 4 &3

4 are big cubes. No bigger cube has red colours. WE I& | 23 WeT € faH @ UH 3 &% Jar &at T
14. How many cubes have three faces painted 14. fas wet § {38 urfrmt 3 gfapt fapur J
1) 32 1) 32
2) 20 2 20
3 16 3) 16
4 8 4) 8

15. How many cubes are painted only on two faces? 15. fae wet § fge < urfipnt 3 Sfapu famr J1

1) 20 g iy
2) 16 3) 28
3 28 4) 12
4y 12



Direction (Q. 16-17) Study the following information
and answer the questions.

16.

17.

18.

19.

20.

Rectangles —> Scholars

Circle — Students
Triangle — Players
Scholars

Players

How many players are students?

1) 90
2) 40
3) 80
4) 70

How many scholars are players as well as students.  17.

1) 70
2) 80
3) 9
4) 40

Pointing to Kamal, Gagan said * his mother’s brother 18-

is the father of my son Tinu. How is Kamal related
to Gagan?

1) Father

2)  Mother

3)  Nephew

4)  Brother

m-nm-n-an—-a-ma-— 19
1) amammn

2) aamnan

3) ammanm

4) aammnn

P-—P--PqrP-r 20.
1) qrstq

2) qqrrq

3) qrqrgq

4) aqrqr

feeel (YRS 16-17) It &3t aret Areast & ug M3

fas rar®g fustat <t g5 w3 feferagt <t g5 ?

1) 70
2) 80
3) 90
4) 40

INS <% ferTaT gae J¢ IETs & faar ‘G@ret i er

39T W9 U39 &g & fusT 31 avs, et = ot
BIETJ?

1) fusr
2) WTIT
3) AT
4) 9ar

m-nm-n-an—-a-ma-
1) amammn
2) aamnan
3) ammanm
4) aammnn

P-—P-—PqrP-r

1) qrstq
2) qqrrq
3) qrqrgq
4) qqrqr



21. A father is three times as old as his son. Five years
ago he was four times as old as his son. Find the
present age of the son.

1) 12 years
2) 17 years
3) 19 years
4) 15 years

22. If the 3rd of the month falls on Thursday. What day
will be fourth after 22nd of the month.

1) Saturday
2)  Thursday
3) Tuesday
4)  Monday

23. Based upon the following statement what conclusion
can be drawn answer as.

1) If only Conclusion I follows
2) If only Conclusion I1 follows
3) If Conclusion either | or 11 follows
4)  If both Conclusion | & Il follows.
Statement-All elephants are Candles
All Candles are monkeys

Conclusion
| All Candles are elephants
Il All elephants are monkeys

Direction (Q. 24-25) A and B are good in Mathematics,
English and Biology. B and C are good in Biology and
Physics. C and D are good in Physics and Chemistry.
D and A are good in English Mathematics and
Chemistry.

24. Who is not good in Biology?
1) A 2) B
3y D 4 C

25. Who is good in English, Physics and Biology?
1) B 2) A
3y C 4 D

21. f&q fugr <t @1y, U39 <t va 3 3= areT femer
31 U7 7 ufast Er<t Gvg, U39 €t Gva 3 979
e frvmer At | U39 < o< ©v9 fast g=ait |

1) 127
2) 177®
3) 197
4) 157%

22. ¥d9 W18 €t f3s Idta & Saeg »wfer 9= 3*
7 Hal& €t 22 It 3 govie ST fes fagasrd=ar ?

1) wnfzgd=e
2) <loew

3) Fa®ed
4) FHITT

23. J5 fo4 quat nigAg &3tAT aw F fem 39t €739
fe€i
1) #o9 fAde a3 I slT |
2) #ad fAde a3 Il 3T T |
3) HddaIAT IS T A SIAT I SA T
4) F9d &3 | M3 3T €8 3T T |
TES-HTT JTET HHE T I |
TS -ATTPHT HHEf3T §7ed 35 |
&3t |- At AHEfamt IET 95 |
&3t |- 779 gt §ied 75 |

fsgen (YFs 24-25) A w3 B aifed, #dmt w3 Ale
feferns ugs fS9 9a1 95, B M3 C Al fefarns w3
3f3a fefarns ugs fee 9491 95, C w3 D 3f3a fefarrs
w3 IAfee fefarrns ugs ST 991 95 1 D M3 A wigiwt,
gifes M3 Ifeed fefars ugs ST ar a5 |

24. = feforrs ugs fSe d= Sar aat I ?
1) A 2) B
3) D 4 C

25. w3t 33 fefars w3 Fiw fefornrs ugs fee
dE g I
1) B 2) A
3) C 4 D



Direction (Q. 26-27) In the following questions f&3eR (A 26-27) &7 fe3 99 Ag<t €3 fes €9
arrange the words as they accur in dictionary and Ed<" AHT &9 fAR &% AEeT € 3931Y HITAH WEAT I

choose the correct sequence. e |
26. a) Ambitious b) Ambiguous 26. a) Ambitious b) Ambiguous
c) Ambiguity d) Animation e) Animals c) Ambiguity d) Animation e) Animals
1) (i), (i), (i), (v), (iv) 1) (i), (i), (1), (v), (iv)
2) (i), (ii), (iv), (v), (i) 2) (i), (i), (iv), (v), (i)
3)  (iii), (ii), (iv), (i), (v) 3) (i), (i), (iv), (i), (v)
4y (iii), (ii), (v), (iv), (i) 4) (i), (ii), (v), (iv), (1)
27. a) Continuation b) Contention 27. a) Continuation b) Contention
¢) Contain d) Continuous e) Count ¢) Contain d) Continuous e) Count
1) (i), (i), (iv), (i), (v) 1) (i), (i), (iv), (i), (v)
2) (i), (ii), (iv), (v), (i) 2) (i), (i), (iv), (v), (i)
3) (i), (i), (ii), (iv), (v) 3) (i), (i), (i), (iv), (v)
4y (i), (ii), (i), (iv), (v) 4) (i), (ii), (@), (iv), (v)

28. Which of the following Cubes can be created by 28. J& f&3 3€ 939 & 3fv &35 3 fao= we g=®
folding the given figure? T AdE & |

Question figure

Answer figure CECISES]
|

B a3 [0 @]
(©) (4) (4)

o O o O ©)

29. If ‘white’ is called ‘blue’, ‘blue’ is called ‘red’, ‘red’ 29 g9 ‘T & =ur f S tpr & T f
is called ‘yellow’, ‘yellow’ is called ‘green’, ‘green’ - ,?f;‘ﬂ ' N i ,=?n)_‘w,ﬁ
is called ‘black’, ‘black’ is called ‘orange’. Wh S - ; N .o A f
s called ‘black’, ‘black’ is called ‘orange at T g , ¢ &

7 =~ . . a — -~
goulib: the colour of human blood* TS It Wt we o T fa ,
e

1) %
2) Green 2) gar
3)  Yellow 3) wwr
4)  Orange 4) A3t



30. Five friends A,B,C D and E are standing in row
facing south but not necessarily in the same order. Only
B is between A and E, C is immediate right to E and D is
immediate left to A. On the basis of above information,
which of the following statements is definitely true?

1) Bisto the left of A

2) Disthird to the left of E

3) Bistotherightof E

4)  Aissecond to the left of C

Direction (Q. 31-35) In each of the following questions,
there is a relationship between two letters/word/
number/figure on the left of the sign (: :), The same
relationship exists between the two to right of the sign
(: :) of which one is missing. Find out the missing from
the alternatives.

31. NLO:RPS::VTW:?
1) XVY 2)
3) TRP 4)

VTR
VUW

32. BELL: AFKM::DOOR:?

1) CNPQ 2) ENPS
3) EPNS 4) CPNS
33. 68:130::7:350
1) 240 2) 222
3) 216 4) 210
34. Problem Figures :
En T e Fo i 2
Answer Figures ;
Ju [ {Fe | e
(n @ @ 4)
Problem Figures :
35.
—>
L =35 S ?
Answer Figures ©
—3>
U302 DA P S RN

~
(")
~

M @ @

30. UH €Az A,B,C D %3 E feg 39 feg Sy =
U 1T 994 43 95 U3 feg Agdt sdt fa Qo Budaz
IS MEAT YIS I || AMI E< fegaaa<=s B
J Il C,E < feqed He UH I M3 D, A< feqer ug
UH J18udaz fe3t Areardt migAg I& f&fipudt
fev fausT s fasas At J1
1) BATEEURJI
2) DET &YW IH AES I I
3) B,ESRAURNJI
4) A CTYUHETHAES 3T

f&eer (Y& 31-35) 35 o0 yAst feg () T da UR €

g/ e /wie/f93at {9 feg 31 /e U & Afgwr &g

gt €3t i T 1 & are feasut § Aot feasy 331

31. NLO:RPS::VTW:?
1) XVY 2)
3) TRP 4)

VTR
VUW

32. BELL:AFKM:: DOOR:?

1) CNPQ 2) ENPS

3) EPNS 4) CPNS
33. 68:130::?:350

1) 240 2) 222

3) 216 4) 210

34, T fa3T

En o dw fiFrfd 2

€39 fasa
Ju | ha [ e | Ha
(1 @ @ @
35. T f93a
WRE § Hibud HE
€39 fasa
O VA I e AR
M 2 3) 4)



Direction (Q. 36-39) In each of the following sets of
numbers/ figures, select the one that is different from
rest.

36. 1) 400 2) 484
3) 625 4) 729
37. 1) 12-16 2)  60-80
3) 30-50 4)  36-48
38. % l
(1) (2) (3} (4)
39. % T A E=
A ol o @]
BN AES AJ
(1) (2) (3) (4

Direction (Q. 40-41) The figure in each of the question
follow a series, select the figure from the given
alternatives which would continue the series.

Question Figures :

40.
(1 (2)
a1 Question Figures :
AR
Answer Figures :
(1) (2) (3) 4)

fsaeH (YRS 36-39) It fefamt arehyt Aftprret/ fagat
fes feq orfamt & nisar I, @R & T |

36. 1) 400 2) 484
3) 625 4) 729
37. 1) 12-16 2)  60-80
3) 30-50 4)  36-48
38.
(1) (2) (3) (4)
4+ < [w=]
> 1] < 1% D
(1) (2) (3) (4)

foaer (YAE 40-m341) &3 ae yns fosat et 3t &
nal TuQe Hut IaT i3 99 feawut feg fed g& |

T f939

D

40.

253! %z,

(1) (2)

T f93a
@

; ; |
Cectice i

ey (2)

41.

3)



Direction (Q. 42-43) In each question given paper has
been folded as shown with dotted lines in the given
figures and last figure shows how the paper has been
cut. How would the paper look like when unfolded?

Problem Figures :

42.
— —— ==
iy | i
‘ =il R
i | EL
Answer Figures :
00 00 Q 3 Q0 00
0000 oo ° © o
o0 00 o O
Q9 00 [ O 00 0
(1) (2) 3) (4)
43. Problem Figures :
] I
V| ZA| [
Aunswer Figures :
o > M %ﬂn M
[ o) 1 o o
X Q ojl{e @ o ©
(1) (@) (3) (4)

Direction (Q.44-45) Which answer figure will
complete the pattern in question figure?

44 Question figures :

Answer figures :

GijiciEict

(1) (2) (3 (4)

45. Question Figure :

3
o %
#*
(]
Answer Figures :
* o
(] *

(1) 2 (3) 4)

foeer (YAS 42-43) fed aaE € 2o & fag qu=i €
%-5 Hi famr I fae fa fo39 fEa eamfen fapmr
3, feq fen & winyat fA39 & nigaa dfewr famym | o

&< Quas fag fraar samer ?
4p.  VHfur fos9
oo Cd LA
3| & A
€39 fasa
(1) 2) (&) 4
AT fos9
43.
!
M PN
€39 fasa
M 0 QMM
o0 Q Of{e Q OO :
S TR
foaer (YHS 44 m345) fagar €37 foge, yrs s
feT fest aret 393ty & yar q9ar ?
44. AHfrpoT f939

€39 fasa

45. T f93a

(o) *
*
O
€39 fasa
-
* O
/O #*




46. If a mirror is placed on the line x y then which of 46. Hdd €auE & U™ x y §Ua aftprr 7= 37 I ot

the answer figures is the right image of the given feg' faggT €39 fuzq, &3 ae 939 © =ia
figure. y3ifae J=ar|
Question Figure : v ﬁ ﬁv
bt X
A
&) A
v v

Answer Figures : =

111 1] [ ] 141
47. 1f amirror is placed on the line MN, then which of 47 #&@ edue & a9 MN @:UH Wf"é 3+uﬁ3

the answer figures is the correct image of the given

figure? = ola Y3ty g=ar |

Question Figures : o o

N AHfT fo3T

Ee i

= fo

Answer-Figures : M

€39 fasa
%& % %\% fﬁ
DN o T [T
@@ W
48. How many triangles are there in the following ,¢ 3= i3 figg g e 39957

figure? =
1) 20 2) 24 1) 20 2) 24
3) 28 4) 32 3) 28 4) 32

Direction (Q. 49-50) In each question, choose the water  fsaem (UR& 49 M3 50) fans f&3 T niyat/fgga &
Image of letters/figure from amongst the four uyretféw sfem ysifag (water Image) 5% f&3 ae 979

alternatives given as 1,2,3 and 4 feasu 1,2,3, M3 4 fes &9 |
49. N4tQj3 49. N4tQj3

1) merol3 ) w113

2) Wridie 2) Nridire

3) Usrd13 3) U013

4) W10 1€ 4) U106 (¢

10



50.

ol.

52.

53.

X

K\) \‘5»)

& (4)

50.

X

)

»® (4)

ENGLISH

Q 51-55 Read the following passage given below and answer the following questions.

People invent things to enhance their lives. Today, inventions are mostly improvement of previous inventions.
With technology, inventions are taking a shorter and shorter time to complete. On such inventions is the camera.
When inventors first tried to take a photograph in 1558, the image could not stay on the paper permanently. It was
only in 1837 that inventors managed to produce pictures that did not fade away.

The first under water camera was invented in 1856. It was placed in a tightly sealed container. However,
when the contraption was under water, the container broke before many pictures were taken. Less than 20 years
later, technology allowed under water cameras to go even deeper into the water and take coloured photographs. The
cameras even looked like fish!

How are inventions of today different from those

in the past?

1) They are not original

2) They can improve people’s lives

3) They need lesser time to complete

4) They tend to be more useful

What problems did inventors face when they first

tried to take photographs?

1) The image did not appear on the paper at all

2)  The image was different from what they had
photographed

3) They image lacked colour

4)  The image could not remain on the paper for
long

How many years did it take the inventors to finally

produce permanent image on paper using a camera
after their first try in 1558?

1) 1837 Years
2) 389 Years
3) 279 Years
4) 297 Years

11

54.

95.

The first underwater camera could not
1) Take clear pictures

2) Beplaced in a container

3) Take coloured pictures

4) Go too deep under water

The cameras probably looked like fish because:

1) They would be able to blend with the fish
underwater

2) The photographs were in colour

3) It would attract more people to buy them

4)  Only such cameras could go under water

Q. 56-60 Read the following passage and answer the

questions that follow:
The bulk of our population is poor and illiterate.

Their sorry condition poses a problem. On one hand there
is a shortage of teachers for adult education and on the
other, the adults feel shy of starting to learn at a later age
and attend classes. Moreover, the adult villagers have
little time to spare for attending classes as the job of a
farmer is very strenuous. In addition, he finds that what



is taught at adult centres of education has no bearing on
his daily needs. Therefore he has become cynical about
adult education. It is necessary to make it more
meaningful for the farmers in the villages. In towns and
cities also, emphasis should be laid at increasing literacy
rate and encourage adult education.

Though it can be made work based and useful to
arise their interest. It should comprise a type of system
in which earning and learning go together. Efforts to
enhance adult education will ultimately discourage
tendency to migrate to towns for better earning.

56. What is needed to impart adult education in
villages
1) It should be agriculture oriented
2) Itshould be free
3) Itshould be compulsory
4) It should be available in all villages

57. The main problem in educating adults in villages
IS
1) Financial helplessness to purchase books
2) They hardly find time to study and feel shy
3) Their inability to read and write
4)  There is no room for schools in villages

58. The farmers have grown cynical about education

because

1) He has got no time to go to school

2) Knowledge imparted in schools is of no use
in his daily life

3) He has no money to pay his fees

4)  He needs rest and recreation after strenuous
work

59.  Adult education should be encouraged in
1) Towns and cities
2) Schools and colleges
3) Towns, cities and villages
4)  Only villages

60. The education imparted should be
1) Entertaining and interesting
2)  Useful and meaningful
3) Vocational
4) Limited to cities

Q.61-65 Read the passage given below and answer
the following questions

Have you ever wondered why authors write?
Sometimes they are inspired to create stories. Other times
they provide information about an interesting topic.
Whatever the circumstances, authors have reasons for
writing. This is called the “author’s purpose”. The three
most common types of author’s purpose are to entertain,
to inform and to persuade. Authors write many kinds of
stories to entertain including humorous, fiction, realistic
fiction, fantasy, fairy tales and fables. While fiction
entertains, nonfiction has a different purpose.

Many non fiction writings are written with the
purpose of giving information about an interesting topic.
Authors who write to inform must research their subject
to ensure that they convey accurate information to the
reader. Some examples of Texts that inform are
encyclopedia entries, news articles, expository non-
fiction books and interviews. Sometimes authors write
to convince their readers about something. This is called
persuasive writing . Texts that are meant to persuade use
specific techniques to make the reader care about the
subject and to think about it in a certain way.

Q.61 According to the passage, authors who write to
inform want to
1) Provide information about a certain topic
2) Make the reader laugh, cry or scream
3) Convince the reader to do something
4) Invite the reader to critique their work

Q.62 Based on its use in paragraph 2, it can be
understood that the word convey belongs to which
of the following words groups?

1) Document

2) Communicate

3) Hide, cover

4) Detect, locate

Q.63 According to the author, texts that are meant to

persuade often:

1) Do not get much attention as texts that
entertain

2)  Are very entertaining because they convince
the readers to laugh

3)  Use specific techniques to make the readers
care about the subject

4) Require a lot of research in order to ensure
accuracy of information



Q.64 The three most common type of author’s purpose

Q.65

are:
1) To influence, show and practice

2) To entertain, inform and persuade

3) Enlighten, change, improve

4) To force his ideas on others, to instigate, to

bring about stagnation

Some examples of books that inform are:

1) Story books, fables

2) Adventure books

3) Encyclopedia entries, news articles
4) Gossip column books

Q.66-67 The following five sentences come from a

Q.66

67)

paragraph. The first and the last sentence are
given. Choose the order in which the three
sentences (PQR) should appear to complete the
paragraph.

S | Olympic games were held for the first time in
Greece in 776 B.C

SA

S5 these games help to bring people together.

P - Now they are held after every four years.
Q - They were restarted in 1896 by Coubertin
R - They were banned in 394 AD by Theodosius

Choose the correct option from the ones given
below:

1) PQR
3) PRQ

2)
4)

RQP
RPQ

S1 The basic aim of education is to teach children
how to read and write.
S2

S4
S5 Therefore student should be taught more than
one language and also to have mutual respect for
all faiths

P - However in our schools, we are faced with
some problems.

Q - Students belong to different communities and
speak different language

R - But more important than that is to mould
their character

13

Choose the correct option from the ones given
below:

1) PQR
3) PQR

2) RQP
4) RPQ

Q.68-69 Following questions have the second

68)

69)

sentences missing. Choose the appropriate
sentences from the given options to complete it:
A- By crossing the Indian Ocean Mihir Sen was
overwhelmed by a deep sense of joy and
thankfulness.

C. The experience changed him completely and
he was never the same again.

1) It was a justification

2) He felt humiliated

3) Itwas a joy that lasted a lifetime

4) It was a fleeting moment.

A) Long ago there were two brothers who
worked together.

B)

C) John always took care of his younger brother
and kept him out of trouble.

1) They owned a small inn where passing
travellers would often stop to rest.

2) The elder brother, John was wise but the
younger one, Jack was foolish.

3) One day, John went to a nearby river to fish,

leaving Jack incharge of the inn.
4) Asagroup of travellers appeared, instead of
being helpful, foolish Jack annoyed them.

Q.70-79 Choose the correct word that best fills the

70)

71)

blank from the four options given below:

. IS a paper written in one’s own
handwriting.

1) Manuscript 2) Transcript

3) Biography 4) Autobiography
The donkey .......... when the heavy sack was
placed on its back.

1) Brayed 2) Grunted

3) Trumpeted 4) Bellowed



72)

73)

74)

75)

76)

77)

78)

79)

The ............. of directors will be having a short
meeting.

1) Company 2) Staff

3) Board 4) Bench
A of rats destroyed the crops.

1) Swarm 2) Plague

3) Pack 4) Troupe

The police has captured the entire...... of thieves.
1) Troop 2) Gang

3) Crew 4) Party

The ................ of teachers organized a picnic
party.

1) Staff 2) Gang

3) Panel 4) Team
A of bees attacked the boys.

1) School 2) Cluster

3) Flock 4) Swarm

The hardworking farmers tilled their land from
dawnto .............. :

1) Dusk 2) Midnight

3) Twilight 4) Sunrise

Fresh bread will become ........... after a few days.
1) Dull 2) Dry

3) Tasteless 4) Stale
The............. Meat was placed over the fire until
it was cooked.

1) Tough 2) Hard

3) Lean 4) Raw

Q. 80-85 Select the correct phrasal verb for the

80)

81)

underlined word from the options given below:
The guests arrived at the function punctually.

1)  Turned up 2) Came down
3) Called up 4) Called off

Please remove your shoes before you enter the
house.

1) Take away
3) Pull down

Put off
Take off

2)
4)
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82)

The soldiers fought bravely before they
surrendered.

1) Gaveup 2) Gave away
3) Turned back 4) Passed out
83) Peter resembles his father greatly.
1) Looks after 2) Keeps up
3) Takes after 4) Puts up
84) Itistime to discard all of these old tax records.
1) Done over 2) Do away with
3) Cutoff 4) Cutin
85) Please review your answers before you submit your
test.
1) Go back 2) Find out
3) Get across 4) Go over
Q.86-93 In the following passage there are some
numbered blanks. Fill in the blanks by selecting
the most appropriate word for each blank from
the given options.
In tropical countries, certain crops are grown
86) .......... the year. These countries have
87) i rainfull for the crops. They
also have plenty of sunshine what
88) i the crops. More food than is
89). i can be grown in these places.
But there are other countries in the world where it
is 90) ........ to grow crops.
86) 1) Along 2) Over
3) Through out 4) Across
87) 1) Sufficient 2) Little
3) Plenty 4) Inadequate
88) 1) Opens 2) Gathers
3) Destroys 4) Ripens
89) 1) Cooked 2) Required
3) Planted 4) Used
90) 1) Difficult 2) Rough
3) Smooth 4) Impossible



91.

92.

93.

94.

95.

96.

97.

98.

Geography

Tropic of Cancer does not pass through which of
the following states
1. Rajasthan
3. Karnataka

2. Gujarat
4. Madhya Pradesh

Which of the following rivers falls into Arabian
sea?

1. Mahanadi

3. Brahmaputra

2. Ganga
4. Narmada

The western Coastal strip, south of Goa is known
as:

1. Konkan coast
3.Northern Cast

2. Coromandal Coast
4. East coast

Which of the following crop requires more water
for its growth?
1. Wheat
3. Pulses

2. Barley
4. Rice

Tides occur mainly due to the following factor.
1. Gravitational pull of the earth

2. Sea Winds

3.Gravitational pull of the sun and the moon
4. Heating of Ocean Water

Which of the following soil is also Known as

‘Regur soil’?
1. Laterite soil 2. Alluvial soil
3. Black soil 4. Desert soil

Which one of the following is not a type of coffee?
1. Arabica 2. Britannica
3. Robusta 4. Liberica

Approximately at What degree of latitude the Gulf
Stream (warm water current) and the Labrador
current (cold water current) meet near Newfound
land?

1. 20°N
3.20°S

2. 45°N
4. 45°S
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A&

Jo oy faus aH feg g9 JuT oot At I |

1. IHAETS 2. JF3
3. qI&eA 4. HO-yen

J5 fafumt feg fagzT efewm wigg A9 <o

fgarerg?
1. HOT&et 2. g
3. §UHY3T 4. SIHET

Jmr @ Ty ST Ut 3 & Ut & fagr Ater

2. 3T 3T
4. ygdt 3¢

. dde 3¢
. B3dt 3@

w = ap

UTSt €t 83 It I 7
1.9 2.7
3. @5t 4. 9S8

A9 HY 39 3 Jo {88 a9 aaa e J|
1. g33t €t 9g3T fig

2. Agedt gev=t

3. H9H M3 J<oHT € Ig3" fiig

4. MITATIIG € UTeT &7 9N dT

J5 faft feg faost firet & a9 fivet aft fagr
Harg?

1. edrete fiet
3. ar&t fHet

2. A8 firet
4 . Ifamarat firet

Jo fafunt feg fagst det & fea fam &at
J?

1. Mdfaar 2. fgefsar
3. JgHCT 4. gfegfaqr

WMIATH ©f argar faw f3adt 3, 56638

T &3, a%e AedH (AW Ut ©t uran) wid
#9939 UdT ( &F Ut € graT) fHsehdT g% ?
1.20° €39 2.45° €39

3.20° @4 4. 45° g4



99.

100.

101.

102.

103.

104.

105.

In which Industry limestone is mostly used? 99.
1. Paper 2. Cement
3. Petro-Chemical 4. Textile

Which is the largest delta of the world?
1. Danube-Don Delta

2.\olga Delta

3. Kaveri Delta

4. Sunderban Delta

History

What was the Profession of Guru Nanak Deviji’s
father

1. Jagirdar
3. Patwari

2. Peasant
4. Shopkeeper

Which Guru started The manji system?
1. Guru Amardas ji

2.Guru Angad Dev ji

3. Guru Ramdas ji

4. Guru Arjun Dev ji

Which religion has Protestant as a branch?
1. Hindu Religion

2. Muslim religion

3. Sikh religion

4. Christian religion

Of which country Columbus was native?

1. Italy

2. Japan

3. Germany

4. China

The second world war was fought

1. Germany, Japan, Italy- France, Britain, Italy
Soviet Union & United States

2. Germany, Britain, France-Italy, United States

3. Germany, United States- Britain, France

4. Britain, France, Soviet Union -Germany,
Japan, United States
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& T Ugg Wy 39 3 fagz Gedar ffg =afanr
qHarJ?
1. dmare
3. Ueg-gurfesa

2. FHe
4. Ju3T

fATg €T A 3 <37 3% faa3T I ?
1. 3fs8w-3= 3Wer

2. IBJT 3BT

3. T4t BT

4. Fod9s 3BT

fefgam

J9 576d €= At € fugT er grdgg at Ht ?
1. AditdeTd 2. fams
3. ye=Tat 4. gITEaEg

¥t ygT fan g Arfoes & 59 13t ?
1. IG MHIEH AT

2. Qg #iErees |t

3. JIg IHEH At

4. 99 MIAs €< At

yeHee = fam uaH &F Ay At ?

1. fgg gaw

2. HAT®H TaH

3. fig wonr

4. €tATet gan

&9 fam en <t fo<=™ At ?
1. feest

2. AUE

3. FAHaT

4.9t

faPor Fit ?

1. AH&T, AU, feest—fges, g,
Afens Tata 3 gaTfees Acen

2. vioHat, fges, satn- feest, gafees Acen

HOHST &TTees Aeen —fges, &am

4. fges,eam, ifen3 gatis- Aarat, AUTS,

Hafees AeeH

w



106.

107.

108.

109.

110.

111.

112.

What is the name given to Punjab by the Latin
Historians in Latin Language?

1. Penta Patamia 2. Sapat Sindu

3. Panch Nand 4. Lahore Suba

What was the basic objective of the Vernacular

press Act?

1. To ensure reports and editorial in the
vernacular press

2. To Promote freedom of Press

. To censor foreign press

4. None of the above

w

Who wrote Kadambari?
1. Bana Bhatta

2. Raja Ram Mohan Rai
3. Mahatma Gandbhi

4. Raja Rai Verma

Who developed the Principal of Garden city?
1. Ebenezer Howard

2. Charles Dickens

3. Thomas Hardy

4. Andrews Mearns

Who invented the Steam Engine?
1. James watt

2. New comen

3. Richard Arkwright

4. None of the above

Civics

The Indian constitution has article
1.393 2.394
3.395 4,396

Which of the following is not work of legislature?
1. To make laws

2. To amend constitution

3. Administration

4. Control Money
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garat fef3amaret & IAmg € & gaTat g
fegatfesrg?

1. Terenibor 2. nu3 fig
3. {gée 4. %799 g

TI&IHI UH Mae €7 H% Gen at /i ?

1. fotger W3 AUredt Byt €7 T9&IHBT UH
mfafse v sdtue JaaT

2. U &t et Y3ATfo3 daat

3. feent U T fadhus 95T

4. Qu3az & ot aat

FJeHgdt fam & fat ?
1. 957geT

2. I IH HI& Ife
3. HIT3HT It

4. T IfE TaqT

Irass et e fagis fam & fesmrt ?
1. Wifgsing I=93

2. 979N f3aan

3. BHATTIST

4. m&3 fa€ Hasw

A feas €t v foms Jist?
1.AHA ¢
2. fsQans

3. {993 mrgagrete

4. Quda3s feg qet =t &at

SaIfdd R3S
g33t Afeus fe9 fas migee 75—
1.393 2.394
3.395 4.396

aqI?

1. 365 gSgeT
2. Afeurs feg Aa
3. yAAS 9%TgeT
4.U%5 3 JIH



113.

114.

115.

116

Which among the following is vested with
Residuary powers in the Indian Federal Structure:-
1. State

2. Centre

3. Both centre and State

4. Panchayats

The Governor’s salary and allowances are Charged
on:-

1. The consolidated fund of the State

2. The Contingency fund of India

3. The Treasury

4. The Consolidate final of India

Which day is Celebrated as Human Rights Day
around the world
1. 10 December
3. 8 March

2. 2 February
4.5 September

. In 1954, India signed Panchsheel, Agreement with

which of the following country:
1. Bangladesh 2. China
3. Pakistan 4. Sri Lanka

117. As per the constitution of India which of the following

institution is entrusted with the power of Judicial
Renew:

1. Lok Sabha 2. Rajya Sabha

3. Supreme Court 4. President
118. Minimum age required to become a member of Rajya
Sabha is:
1. 21 Years 2. 25 Years
3. 30 Years 4. 35 Years

1109.

120.

The basis of the formation of UttaraKhand,
Jharkhand and Chhattisgarh States is

1. Cast 2. Population

3. Regionalism 4. Communalism

For which of the following groups, seats are not
reserved for any of the Elections:-

1. Scheduled Tribes 2. Scheduled Castes

3. Physical Disability 4. Women
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II3t AW B9 g garfemT (g9t
A3t fan d% I&-

1.3H I&

2.3 aAF%

3.9°d M3 IH ST AH

4. g feg I

THUS & I5UT M3 93 e I5-
1. 37 <t Af9z faut fe s

2. 9793 @t 93 faut fos

3.4ya7% fe&g

4. 9793 <t Afes faut feo

fen= 99 feg HaHl wifuara feer a< HaTfomT
Her I-
1.10 ©nEd
3.8 99

2.2 gJ=at
4.5 A39d

7S 1954 f&9 9793 & fan @ &% (9ds

AHS 3T 3T At-
1. §I18T 7 2.9t
3. yfanas 4. Hi&aT

g93t Afeus »igAd fonifea ysafadtys <t
A3t fam a& Jet I-
1.3d AIT

3. Ad< @9 wem3

2.3 AIT
4. JHSIUST

3™H AST € HYd 95& BTt We I We Qv It
gratet 9-
1.21 A&
3.25 0%

2.30 H'&
4.35 A%

€39, youz 3 £33 A < AEUsT
T WU -
1. A3le™
3. HyerfeasT

2. AGHYHT
4. g3dee

793t Afeurs wang fegt f<9° fags AyT Bet
fon €t 9=t feg Atet gyt &dt 75-

1. WeHfe3 TE1d 2. migHfes A3t

3. Adted gy feg »iliar 4. #ig3t Bt



121.

122.

123.

124.

125.

126

127.

Economics

The time Period of Ist five year plan of India
1.1948-53
3.1950-55

2.1949-54
4.1951-1956

Continuous and high increase in general Price
level is called......
1. Trade cycle

3. Deflation

2. Inflation
4. Recession

Under Monopoly, the relation between Average
income and Marginal income is

1. AR>MR 2. AR= MR

3. AR<MR 4. AR/MR= o0

... is the ratio of Consumption expenditure and
income
1. APS
3. MPS

2. APC
4. MPC

Who is the chairman of planning commission of
India?

1. President

3. Finance Minister

2. Prime Minister
4. Home Minister

Chemistry

. Polymerization of which compound will give

benzene

1. Ethane
2. Ethyne
3. Ethene
4. Methane

Volume of CO, liberated at STP on burning 24g
of methane in excess of air is

1) 11.2L

2) 22.4L

3) 33.6L

4) 44.8L
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MJGHTH3d

g3 <f ufgst IAsT GasT @ AT % ot
Ar?

1. 1948-53 2. 1949-54

3. 1950-55 4. 1951-56

AUee a3 feu fsg3d w3 »fug =0 &
........ foe 5|

1. {UFT 999 2. HedT Aei3t

3. HodT mASIST 4. Afgaar
gIfuaTd ga79 9 WAz MHEs W3 AN
MHes feg Adg ... JI

1. AR>MR 2. AR= MR

3. AR<MR 4. AR/MR= o

........... QUFaT yag MI MHES T HEUTS T |
1. APS 2. APC
3. MPS 4. MPC

793 fS9 T3S AN GHST ATHAS & THIHS

I57?

1. IHeIU3T 2. YU H3at

3. &z iaat 4. grfg H3at
gnfee fefamirs

Fore fauz Gfda @ guBdldds Jdd g
J?

1. gl

2. gtErEts

3. gt

4 tes

24g Higs © 9= f<9 STP 3 98< &% CO, &t
faat 39T gait

1)11.2 ®ted

2) 22 .4 Bted

3) 33.6 Bied

4) 44 8 Bted



128.

129

130.

131

132.

133.

134.

250,(9) + O,(g) — 250,(g) +heat
Fovourable conditions for the reaction are
1. Low pressure, high temperatures

2. Low pressure, low temperatures

3. High pressure, low temperatures

4. High pressure, high temperatures

10g of CaCo, contain

1) 10 moles of CaCo3
2) 0.1 gm atom of Ca

3) 6x10% atoms of Ca
4) None of these

Aluminum and phosphorus belong respectively
to groups

1) 10 and 12

2) 13 and 15

3) 10 and 15

4) 12 and 13

Which of the following is the most metallic
element?

1. Oxygen

2. Fluorine

3. Krypton

4. Beryllium

In each of following compound carbonyl group
IS present except in

1. HCHO 2. CH,COCH,
|

3. H-CH,-OH 4. CH,-C-H

Which of the following would yield a basic oxide

1. Sulphur

2. Sodium

3. Silicon

4. Phosphorus

Solution which contains [H*] ion conc- 10 mole/
litre, the PH of Solution will be

11 2)3

3)8 4) 10
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129.
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131.

132.
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250,(9) + O,(g) — 2S0,(g) +heat
TS|

1. e €97, T ITUN'E

2. e g9, W[e ITUHTS

3. 27 g, Uie IUNS

4.3 T, [T ITUN'E

10g CaCo, fS9

1. IBHMHH TIEEC € 10 HS
2. ABHMH € 0.1 IH UeH'E
3. ABHMH € 6x10% UIH™E

4. Qudas feg aet aat

NBHISPHH W3 THSIN qHET Ul IPU 575
aU3 I8

1) 10 M3 12

2) 13M3 15

3) 10 M3 15

4) 12 M3 13

JoT fafunt feg fagsT A9 3 <u u3<t gI=t
TBTIIJTI

AW N

1. HCHO 2. CH,COCH,
0
|

3. H-CH,-OH 4. CHC-H

JoT fafiput feg fausT yar mrarrdls se@erJ |
1. A%ed

2. RS

3. fastas

4. THSIH

W% fan feg [H+] »ifes frue3T 108708/ Bted
J 197 € PH J=ait |
1) 1
3) 8

2) 3
4) 10



135.

136.

137.

138.

139.

140.

141.

In which of the following colloids both dispersed  135.
phase and dispersion medium are liquid
1. Blood 2. Smoke
3. Paint 4. Milk
Total number of atoms present in 0.49g of H,SO,is  136.
1) 2.1x10% atoms 2) 6.02x10% atoms
3) 3.01x10%* atoms 4) 1.2x10%* atoms
BIOLOGY
Which of the following statement is not correct 137.
about Parenchyma tissue
1. The cells are thin walled
2. Large cells are placed together with inter
cellular spaces
3. The cells are loosely packed
4. The cells are thick walled
Name the fish whose skeleton is entirely made 138.
up of cartilage
1. Shark 2. Rohu
3. Draco 4. Tuna
Which of the following helps to transport Glucose  139.
and oxygen from the mother to the embryo?
1. Placenta 2. Fallopian tube
3. Ovary 4. Uterus
In diabetes mellitus the patient drinks more water  140.
as thereis loss of........... during Urination
1. Salt 2. Insulin
3. Protein 4. Glucose
Which of the following pairs is incorrectly
matched 141.

1. Malaria-Anopheles

2. Plaque-cat

3. Dengue-Aedes

4. Food Poisoning-Cockroach
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foris feg fags defes feg €5 (fsruans
&) ufefyuz e w3 ufgaus Hmd (disper-
sion medium) €& 33 IS |

1. ¥& 2. Iyt

3. U2 4. €U

0.49g H,SO, <7 f&& vanre g5
1) 21x102 UgH'E  2) 6.02x10% UH'E
3) 3.01x10% UgH™E  4) 1.2x10%* UaH'E

A= fefamrs
Adt &9t T
1. A% U3BT U T8 I5 |
2. <F A% fegdTd W39 AGT Ut gt Jetit

\\\\\\

v W&t e & &R fan e fime Qu nimet waz

Jer T
1. Hdd 2.39
3.39d 4. feQar

36 fafur &9 fagsT ggan W3 wrartAs &
W 3 g9 3 B< feu Hew JaeT J|

1. 9% 2. B feGu

3. M3AH 4. JEIIH

yter 3 fa@fa e yaa at....... g we g
At I

1.3 2. fesnfas
3.yt 4. qBAA

fegst feg fagsT A3 WruRt 1S &at JueT |
1. HBIPH™-mMETeBIH

2. yBar-fast

3. 3-S5+

4. Afadt®T IAS-ITId9



142.

143.

144,

145.

146.

147.

148.

Adrenal gland is associated with
1. Pharynx 2. Pancreas
3. Kidney 4. Brain

The Wings of an Insect and a bird are the example
of

1. Analogous organs

2. Homologous organs

3. Vestigial organs

4. Atavism

Pollen grain represents
1. a male gametophyte
2. a female gametophyte
3. a male sporophyte

4. a female sporophyte

A farmer wishes to start poultry farm. But he is
not aware about the type of birds, suggest him
the name of Indigenous breed

1. Aseel

2. Jersey

3. Leghorn

4. Bos Indicus

Which of the following disease is caused by virus?
1. Diphtheria

2. Influenza

3. Typhoid

4. cholera

The terminal end of a Chromosome is often called
1. Centromere

2. Chromomere

3. Telomere

4. Metamere

Humans are Unable to digest the cellulose of the

food because

1. Their stomach is not divided into
compartments

2. The lumen of the small Intestine is narrow

3. They are Unable to chew cellulose

4. Certain bacteria are not present in humans that
are present in ruminants
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nFdtes Jrt, fam a7 g3t get 1

1. gmat 2.%gr
3.3Ee 4. feqmar
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1. AHGY MHar
2. AHATST war
3. W<HAT WdT
4. Ufge g€

ygaiae ot egATgEr I
1. &9 IMteeTele

2. HTaT gnfteeTete

3. 59 g e

4. HeT ST

foms <t fegr At fa €9 Haait usE gy 83,
WA SIS St oAs T uU3T sIT AT GR &
s fagmae fa 3 fefiprr feg et s e
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1. WAt

2. AgHT

3. 91 I95

4. 87 festan

I fafpur feg faast st =fean 5% gt 3

FIHAH & %13 AT & miama fagr Afer
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A
. &g
. Henibrg

AW N

916 9 ABSH § UST AdS BT HEY MAHIE

75 fagfx

1. €8xt = figer fafimr feg &t Sfamr ger
JI

2. et iug eT 8% 3T Jer J |

3. Qv igaa & goe feg mmigg g5 |

4. voutfegggym fam e dAles sdtge
HIr® dd< T8 Ut feg g€ a5 |



149.

150.

151.

152.

153.

154.

Mathematics
If a3+ b'*+ ¢! = 0, then
1. atb+tc=0

2. (atb+c)® =27abc
3. atbt+c=3abc
4. a+b*+c=0

If x1% +101 is divided by (x+1), then reminder is:
I. 0 2. -1
3. 49 4. 100

A square and equilateral triangle have equal
perimeter. If the diagonal of the square is

12+/2 cm, then area of the triangle is.
L. 944 pem* 2, 24.f3 cm?
3. 483 cm* 4. 64+/3 cm?

A bag contains 50 coins and each coin is marked
from 51 to 100. One coin is picked at random. The
probability that the number on the coin is not a
prime number is:

! 2
1. 5 2 5
3 4
3. 5_ 4. 5
If V1369 ,/0.0615 x 3725, then the
value of x will be:
1. 10! 2. 10~
3. 10° 4. 65

X takes 3 hours more than Y to walk 30km. But if

X doubles his pace, he is ahead of Y by 14 hours.
Their speed of walking is:

20
1.  —km/hr.,, 6km/hr.

3
2. km/hr., 3km/hr.
3. km/hr., 4km/hr.
4. km/hr., Skm/hr.
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gifes

ﬁaa- al/3 + b1/3+ Cl/3 - O ﬁé- 31-
1. atb+c=0

2. (atb+c)® =27abc

3. atb+c=3abc

4. aH+b+c*=0

#Aad x!' +101 & (x+1) 7% gTar Iate 3T g4t
ggam:

I. 0 2. -1

3. 49 4, 100

fear =gar M3 AHETg f3gH €7 War ANTS T | A9

2991 © fegas €f Faret M 3= 3T AHEg
39 €7 439eH:

. g2 P2 2. 24~/3 T

3. 48 /3™ 4 64~/3

feq 88 few 50 fAd o fAgst €3 51 3 100
3 Afemret fodbnt et o | fast 88, miesa
o friar 88 feg dfewr Arer T fAg<ar uaT
9 foa o= are fHar 3 feut Aftprr wig Afen &7
<

1 2
1. 5 2 5
3 4
3. % 4. &
Had /1369 ,f0.0615 x 3725 I< 3Fx
TN ot 3= |
1. 10" 2. 102
3. 10° 4, 65

X, 30 fa@Hted Ue® I%< BTt Y &7& 3 Ui
femaT AT &'ET T | U9 Had X MTUST 9% gdist
FIBEIITCIYFH 11 R ufest uge Arer
3137 Qs &t % of J=4it ?

20 . .
1. ?ﬁmﬂ:/um, 6 fant:/drer
2. farait:/drer, 3 fart: /der

3. farrt: ndrer, 4 fat: /drer

4, fat: drer, 5 fart:/der



155.

156.

157.

158.

159.

160.

161.

The prime factorisation of the number 32760 will
be:

1. 2°x32x52x72x13

2. 2?x33xb5x7x13
3. 28x3Pxbx7x13
4, 28x3x52x7x13

The vertices of an equilateral triangle are (a,a),

(-a, -a) and . Its area will be (in sg.
unit)

1. 3\/53_ 2. 3\/532

3. 2.3a’ 4. 2/3a

If a= 0.1039 then the value of
J4a® —4a+1+3ais:

1. 0.1039 2. 0.2078

3. 1.1039 4. 2.1039

If pth, gth and rth terms of an A.P. are a,b,c
respectively then the value of

a(g-n+ b(r-p)+c(p-q) is equal to:

1. 2 2.1
3. -1 4.0
34

The solution of (x-3) (x-4) = @ is:
98 133 97 132

1. —Zor — 2. =7 Or —
33 33 32 33
9% 131 95 130

3. T Oor— 4, —-Or —
33 33 33 33

If the radius of a circular wire is decreased to one-
third and if volume remains the same, then the
length of the wire will be:

1. 3times 2.
3. 9times 4,

6 times
27 times

In the given figure O is the centre of circle and
«DAB=50°, then the measure of x & y are:

Y

1. x=090°y=120°
2. x=060°y=120° o \
3. x=70°y=130° De o
4, =100°,y =130°

#= 100,y N

]
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155.

156.

157.

158.

159.

160.

161.

AftrT™ 32760 € MITH JSaET J6 it fes

ICOEGY

1. 23x32x52x72x13
2. 22x33x5x7x13
3. 23x3Px5x7x13
4, 23x3x52x7x13

fea migat f3d< € fAug (a,a),(-a, -a) M3
( V3a,+/3a) I 37 few & 439e® =9ar
fearetmt feg u3T a9

1. 3\/§a 2. 3\/532

3. 2.43a’ 4. 2/3a

Hod a= 0.1039 I 37 /432 _4a +1+ 3a € H®
g9THd J=dIm:

1. 0.1039 2. 0.2078

3. 1.1039 4. 2.1039

A9 pat, =T M3 1= yT T niaaref3a &3t

fS9 g=9 a,b,c 9= 3T a(g-r)+ b(r-p)+c(p-q) =7
H® 99799 J=dIm:

1. 2 2. 1
3. -1 4. 0
34 . .
T N
- 33 33 - 32 33
, % 1 % 130
- 33 33 33 33

Hdd faH IBTITT 379 &7 MIT form™ wer AT
fouT 39 =gy W3 G139 er wmfe3s AHTS 39 3T

Ow 379 <t uret § A= |
1. 33T 2. 6 ar=T
3. 9gr=T 4, 27 =T

feg fogg fT9, O ¥a9 e w9 J| A9
ZDAB=50° 3& 3" x 3 y € WY J<JI |

1. x=090°y=120° )
2. x=060°y=120°

3. x=70°y=130° \
4, x=100°y = 130° g

Q’ b
v

]



162.

163.

164.

165.

In the figure, a circle touches the side BC of AABC
at P and touches AB and AC produced at Q and R
respectively. If AQ=5cm then perimeter of AABC
is:

10cm
12.8cm
11.8cm
13cm

el Ny

IfA, A,and A, denotes the areas of three adjacent
faces of a cuboid, then its volume is:

1. AAA,

2. 2AAA,

3' \IAlAZAS
4. 3[AAA,

In the figure A and B are the centres of two circles
of radii 9cm and 2cm, such that AB=13cm and
<ZACB=90°. Where C isthe centre of another circle
which touches the above two circles. Then the area
of the circle with centre C is:

1. 3mcm?
2. 9m’cm?
3. 9ncm?
4. 9rcm?
4xy

If Xy’ then the value of
a 2x a 2y
a 2x a 2y will be:
1. 0
2. 1
3. 2

4xy

2X Y

25

162.

163.

164.

165.

fe3 fidse fee fea 999 ,AABC & gA"BC & P
3 AUIH gdeT I M3 gA=T AB M3 AC § Tue
3 feg gH=9 Q W3 R 3 HUIN I9<T J| Had
éstwﬁéyAABCFW(m)w
J:-

1074
12.8AH4
11.8AH4
1379

oY -

Aad A, A, M3 A, fan were € 5% gare 35
IBT Y3deB g 3T QA WeTE T Tfe3s g9tad

fo3 f939 <9 A W3 B dvdt @& Jadt © MU
fo™ @H=Td 9 AN M3 2 AN I& M3 AB=13AH
J, 799 LACB=90° 3=, fig C €1 99 v a'=q
I 7 ufg® €< I997 § AUIH JaeT I, 3T g C
T Idd €T 43deH =l

31 °AH?
91?2 AH?
91t AH?

9/ AH?

A Lo




166.

167.

168.

In the figure, CD is the diameter of circle with
centre O. CE and DE are equal chords and AB is
an another chord. If ZAOB=90°, then the ratio of
areas of ACED and AAOB is :

1. 21
2. 31
3. 53
4, 4:1

The ratio of a cube to that of a sphere which will
exactly fit inside the cube is

1. 4x

2. 5m

3. 6m

4, T'm

Complete the sentence with suitable answer from
the options:

“Every real number is eithera.................... number
oran ... number.”

1. natural : integral

2. rational : irrational

3. irrational : whole

4. rational: natural

Physics

169. Which of the following responsible for flow of

water in rivers?

1) Force of friction
2) Kinetic energy

3) Gravitational force
4) Electrostatic force

170. 2kg ice at 0°C is mixed with 8 kg of water at 20°

C. The final temperature is
1) o°C

2) 20°C

3) 16°C

4) None of these
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166. fe3 f939 feg, dvd O =& Jagd @ fe™ CD

J | &€ =39 (Ate'=t) CE W3 DE 99799 I8 M3
fea 39 "i=r/=39 AB I | Had LAOB=9(° 3= 37

ACED %3 AAOB € 43desT @7 MgU™3 d<dIm:
1. 21
2. 31
3. 53
4, 4:1

. fEa W= W3 =991 T wigus A fa =949, we
%ied ydt 3¢ fée 9 7=, I=ar |

1. 41

2. 5w

3. 61

4. T

. 63 I €30 feg At &t ST a9d, TT YT I3 |
“gq feg safea fftor™ ... e It I

3faa fefars

169. fqu3T 9% s€hd™ € ytet & =91 &et faiea g7

1) 3913 9%

2) arfsw Gaar

3) IG3T €%

4) nfge-farset g5

170. 0°C =& 2kg ¥9€ & 20° C ¥ 8 kg uet feg

@< 3 fasT I g=ar ?
1) 0°C

2) 20°C

3) 16°C

4) fegst &9 Jet &at



171.

172.

173.

174.

175.

176.

177.

A wave completes 24 cycles in 0.8 Sec. The
frequency of the wave is.

1) 30Hz

2) 8Hz

3) 24Hz

4) 12Hz

Van Allen radiation belts were discovered by?
1) Explorer-1

2) Viking-1

3) Aryabhatta

4) Sputnik

When 60 calories of heat are supplied to 15 g
of water, the rise in temperature is

1) 75°C

2) 900°C

3) 4°C

4) 0.25°C

| gauss is equal to
1) 10T
2) 10T
3) 10°T
4) 10°T

4/25 coulomb of charge contains.......... electrons.
1) 10®

2) 108

3) 10%°

4) None of these

One erg is equal to
1)1gcmS?

2) INm

3) 107

4) 107

A force acts for 10s on a body of mass 10kg

after which the force stops and the body covers 50m in
the next 5s. Calculate force:

1) 20N
3) 10N

2) 15N
4) 30N
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171.

172.

173.

174.

175.

176.

177.

fear 39T 24 9909 0.8 Afae f<9 ya Feeta | femr
o mirea3t J<ait:

1) 30Hz

2) 8Hz

3) 24Hz

4) 12Hz

25 MBS faast St ugat &t ga fans aist?
1) HIAUBFI-1

2) fefaar-1

3) mrabuT g€

4) ny3fea

#dg 60 IBaT 3 15gm yret & fegr A= 37
faaT IuHTs =qar ?

1)75°C

2) 900°C

3) 4°C

4) 0.25°C

fé dim 9999 ger I
1) 10°T
2) 10T
3) 10°T
4) 10°T

4/25FBHTIATRT ..o fedes ge 5 |
1) 10%

2) 10

3) 10%

4) It aat

fe's »I9ar 99799 Jer I
1)1gcmS=2

2) INm

3) 107

4) 107

10 fa® gy Im =3t feq =7z 3 det 95 10
Afas set faforrager I M3l BRI e g% ger
e Arer T IRz wars 5 Afas feg 50 Hieg gat
3fg g9<t I 1 95 fapr3z a9

1) 20N 2) 15N

3) 10N 4) 30N



178. To produce an echo, the minimum distance the sound
must travel between source and reflector:

1) 16.2m

2) 8.2m

3) 34.4m

4) 17.2m

179. An object is placed 30cm in front of a convex mirror
of focal length 15cm. Calculate the nature and position
of image
1) Image is real, inverted and 15cm behind mirror
2) Image is real, virtual and 20cm behind mirror
3) Image is erect, virtual and 10cm behind mirror
4) Image is real, virtual and erect and 15cm from
mirror

180. Five electric bulbs having resistance of 440 ohm
each are connected to a supply of 220 volts. Find
electricity bill if bulbs are lighted for 5 hours a day for
30 days. The cost of one unit is Rs.3

1) Rs. 258

2) Rs. 228.50

3) Rs. 230

4) Rs. 240

178. I UT™ 996 BT AN M3 UT'=d3d 39 UaT & Ule
ure fast gat 3 Faat u=ait

1) 16.2m

2) 8.2m

3) 34.4m

4) 17.2m

179. feg A3 15cm an-get € fFg €3m sque ©
ATOHE 30cm & gdt 3 oot Aiet 9 | y3ifdg ev Agu iz
Afeat uzT a9
1) y3tfeg sm3fea, §Fer w3 gaus € 15cm
fig geer 71
2) yStfdg =msfeq, gt w3 ggue €20cm
fig geer T
3) y3ifde fagr, mremwt Mz gdus € 10cm fUs
g J|
4) y3tfag smafea, gt w3 fiar w3 15cm
fug geer I

180. fam@t € U7 g9t §, favst fe9 gda = y3idu
440891 T, 200V S AUBTE FTH AT AT |7 %9t
& y3t fes 5 uie ®et 30 fegt Tm3 AsfenT 7= 3t
forst e fag ugT a9, Ae fa fa gfec e Hs 3 que T
1) 258 gue

2) 228.50 U

3) 230 JuT

4) 240 gue
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